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QUESTION 1

Which two statements are correct about a VCF deployment? (Choose two.)
A. You are allowed up to four spine devices.

B. The fabric is managed as a single logical device.

C. An EX4300 switch must be deployed as a spine device.

D. You must deploy a QFX5100 as a leaf device.

Correct Answer: AB

QUESTION 2

You are implementing a Virtual Chassis Fabric using QFX5110 devices.

Which two statements are true in this scenario according to Juniper Networks recommendations? (Choose two.)
A. Spine devices must assume the RE role.

B. Leaf devices must have a direct link to all other leaf devices.

C. Spine devices must assume the line card role.

D. Leaf devices must have a direct link to all spine devices.

Correct Answer: AD

QUESTION 3

Clos architectures are based on which network topology?
A. ring

B. VLANs

C. hybrid

D. spine and leaf

Correct Answer: D

QUESTION 4
Which statement is true about highly available data center architectures?

A. All data center devices require the same level of uptime.
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B. They require the use of a services block for non switching/routing devices.
C. They are never segmented into zones or PoDs.
D. During a failure, a data center should gracefully degrade.

Correct Answer: B

QUESTION 5

You are designing a Control-based SDN overlay network. IP filtering and tenant separation for Layer 3 and Layer 4
traffic is required for this installation.

In this scenario, which Contrail component performs this function?
A. vSwitch

B. control node

C. vRouter

D. compute node

Correct Answer: C
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